
Balancing Chemical Equations Worksheet #3: 

Balance the following chemical equations: 

1) ___ N2 + ___ H2  ___ NH3 

 

2) ___ KClO3  ___ KCl + ___ O2 

 

3) ___ NaCl + ___ F2  ___ NaF + ___ Cl2 

 

4) ___ H2 + ___ O2  ___ H2O 

 

5) ___ AgNO3 + ___ MgCl2  ___ AgCl + ___ Mg(NO3)2 

 

6) ___ AlBr3 + ___ K2SO4  ___ KBr + ___ Al2(SO4)3 

 

7) ___ CH4 + ___ O2  ___ CO2 + ___ H2O 

 

8) ___ C3H8 + ___ O2  ___ CO2 + ___ H2O 

 

9) ___ C8H18 + ___ O2  ___ CO2 + ___ H2O 

 

10) ___ FeCl3 + ___ NaOH  ___ Fe(OH)3 + ___ NaCl 

 

11) ___ P + ___ O2  ___ P2O5 

 

12) ___ Na + ___ H2O  ___ NaOH + ___ H2  

 

13) ___ Ag2O  ___ Ag + ___ O2 

 

14) ___ S8 + ___ O2  ___ SO3 

 

15) ___ CO2 + ___ H2O  ___ C6H12O6 + ___ O2 

 

16) ___ K + ___ MgBr2  ___ KBr + ___ Mg 

 

17) ___ HCl + ___ CaCO3  ___ CaCl2 + ___ H2O + ___ CO2 

 

 

 



Word Equations: 

Write the following word equations below as chemical equations and balance: 

1) Zinc + Lead (II) Nitrate Yields Zinc Nitrate + Lead 

 

 

 

 

2) Aluminum Bromide + Chlorine Yields Aluminum Chloride + Bromine 

 

 

 

 

3) Sodium Phosphate + Calcium Chloride Yields Calcium Phosphate + Sodium Chloride 

 

 

 

 

4) Potassium Chlorate when heated Yields Potassium Chloride + Oxygen Gas 

 

 

 

 

5) Aluminum + Hydrochloric Acid Yields Aluminum Chloride + Hydrogen Gas 

 

 

 

 

6) Calcium Hydroxide + Phosphoric Acid Yields Calcium Phosphate + Water 

 

 

 

 

7) Copper + Sulfuric Acid Yields Copper (II) Sulfate + Water + Sulfur Dioxide 

 

 

 

 

8) Hydrogen + Nitrogen Monoxide Yields Water + Nitrogen 


